Sr Questions Answers Choice

s
Jaca
S5

e 5a

1 = BAS U S o (pige Jals ) e 0 s dale o5

Y S oo
Ol A sy
ol e sa

O S ) gl

2 s s S i S e S G ol S S Gdis ) (e pun-

3 2 oson S el I8 gl Gals ) (e pus oS-

Ghse A
s i
Oisa s i 3
Cise Jus )

4 = Ui e Gise a5 S il B G e alal S iy G 8 0l g5 S S s oS R

ERPWRIN

3
i gyl syl
A.)-“Jﬁ

BEETS SN

5 = S LS 1S (3L Jaa s W5 Do S 8150 S G-

BNPY Pt
3 disms
sk,
il

6 O S S i o 5 L S ALl (el S (o 5y 93 @85 (o e (oS 8N 335 S ey plen

53

s
S
©

ik S s
Clie S 4 s S
ioh (S )
<ok S ol

7 O bl (S (S Gy U

8 o s e (S ey S -

st oy SAY
BRST-SIBTTES > Y]
s Judli 5 e K
Jmsh i)

9 0 S 0 (2 S Qe (S Jmpsbos

10 e (Sl 5 5 e s S e Ly OB oy oD e 0l ) s S K1

11 B clla (S5 m 8 8o e O Gl Y o e SSUS WL (sene (U s S8 R

12 2rlla (S ol S 5 el Gy e lla il oy 5 e Lo Sen S L L1355 S pn K1

oow> UDOW» UOW» UOW> O0OOW» 0OOW>» COOWPr CTOWwpr UOoWw» OOWP» TOmP» ODOWXP



